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I . Answeralil the questigns. . 14X1=14
Choose the appropriate answer from the given four alternatives.

1. 1In a class of 50 boys, 35 boys play carrom and 20 boys play chess then the

number of boys play both games is 4 _ ‘
a) 5 b) 30 15 d) 10
5. For any three sets A,Band C, (4-B)n(8-C) Is equal to
| ~ “a) A only b) B only c) C only d) ¢
"3, . An irrational number between 2 and 2.5 is

) il DS 025 d) 8

4,

The length and breadth of a rectangular plot are 5 X 10° and 4 X 107

metres respectively. Its area is ......... = -

a) 9 X 10! m? - b) 9 X 10° m?

c) 2 X 10% m2 d) 20 X 102 m?2

5. The zero of the polynomial 2x + 5 is
g — 5

a) 5 b) " c)

o Which of the following is a linear equation?

W o
o
L -
|

| ro

1
. R,
a)x -

b)X(IX-l):Z c)3x+5=§ d) x3 - x =
7. GCD of any two prime NUMbEr IS vverrro. L SRR 1
eyl b)o 91 d) 2 :f(g?,:g
8. Longest chord of the circle is ................ . - 2R b9 b%
q) radius- . " b) arc . c) diameter. d) none"’bo:’%;%;’(;ﬁ;z',
9. - Th'e exterior angle of a triangle is equal to the sum of two ‘ U‘CL%”«;I’@:%(%\
)] exterior angle o b) interior opposite angles vc:» N s
| ¢) alternate angle - d)interior angles
- 10. In the given figure if OP = 17cm, PQ = 30cm
. and0Sjs werpendicuiar to PQ, then RS is
a) 10cm b) 6cm
¢) 7cm d) Scm ] &

(‘\
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11. The point whose ordinate is 4 and which lies on they - @
o d)(4,2)

a) (4, 0) b) (0, 4) c) (1, 4)
12. If the coordinates of one end of a diameter of a circle is (3,4)' and the-

coordinates of its centre is (-3, 2), then the coordinate of the other end of

) (-9, 0)

the diameter is.

a) (0,-3) -~ ) (0,9) 0 (3:0)
13. I (1, -2), (3,6), (x, 10) and (3,2) are the vertices of the p'arallelogram

taken in order, then the value of x is | | |
a6 b)'5 c) 4 L d) 3
. 14. If sin 360 — % and cos 60° =Y then x2 + y®.is
a) -1,; b) O c) sin 90° d) ccs 900

. 0. 28 is compulsory. i0X2=20

swer any 10 questions. Question n
set. A = {p, 4, I, S}

i1 An
15. Write down the power set of the following
. 16. Find the symfnetric difference between the following sets.

"R={l,m, N, 0 pyand S= {j, I, n, qr.

Expresé the fallowing in the form 2", /8 -

“Multiply : 320 and 316 - o . & ,
r theorem, find the remainder when p(x) is divided b\," g(x) where

17.
18.
19. By remainde

p(x) = X7 - 2x% - 4X - 1;

Find the GCD for the following -

inatioh 2)( - y = 3' 3% + y-:._ 7.

gle of a triangle are in the ratio 1 : 2 : 3, find the measure of each
| | | Z

g(x) = x + 1.
ab? c3, a?bic, abc?.

20.
21.

22. The an

angle of the triangle.
he value of x° in the following figure.

Solve by the method of elim

23. &indy

I
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74. The centre of a circle is (-4, 2). If one end of the diameter of the circle is

(-3, 7), then find the other-end.
25. If (x, 3), (6,Y), (8, 2) and (9,4) are the vertices of a parallelogram taken in

. order, then find the value of x andy. - ,
26. Find the centroid of the triangle whose vertices are A(6,-1), B(8,3) and
A Lo *
C(10,-5) F —
. ;_’ i
Q 27. From the given figure, find all the ‘ 1
: I [/ o
trigonometric ratios of angle B. c .

28. Inthe parallelogram ABCD, if s 4=65" find 2B, £C ZD -
10 X 5 = 50

111 Answer any 10 questions.
dB= {4,8,12,15} then

Question number 42 is compulsory.
59, IfU = {4,7,8,10,11,12,15,16}, A = {7,8,11,12} an
verify De Morgan’s laws for complementation.

85 students speak Tamil, 40 student speak English,
ak English and

30. Ina gro'up of 100 student,
. 20 students speak French, 32 speak Tamil and English, 13 spe
and 10 speak Tamil and French. If each student known atleast any

.French
; one of these languages, then find the number of students wi.0 speak:’ all
these three languages. - : : '
231, .Représent the following number on the number line : 5. 348.
| 32 Arrange surds in descending order. 35, 9a, 3. ,
. j:;:v33. Find the quotient and remainder for the following using synthetic divis<ion
L or2eex-4) s (k42 | |
34, Solve by éross multiplication method @ 3x + Sy =21 -7X -6y = - 49
357 The sum of two digit n‘umber‘and the number formed by interchanging the
| | umber, the néw humber is.4

If 10 is subtracted from the first n

ms of the digits of the first number. Find the first

digits is 110.
more than 5 times the su
number. s 5 | ,
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36. Findall the three angles of fhe AABC.

ance of 2./11 cm from the centre

37. Find the length of a chord which is at @ dist

of a circle of radius 12cm.

ing points A (7,10), B (-2,5), Ces

38. Show that the follow C(3,-4) “are the verti

of a right angled triangle.
of a cirde whose one chord is

ively. OD is the perpendicular

‘ 39-_\0(()'0) is the centre 'AB, where the points A
and B are (8,6) and (10,0) respect

from the

e mid.—point of OD.

e chord AB. Find the cdordinates of th _
dc(13, 1)

~ centre to th
w that the points A (7, -3)/, B(9, -3) an

40. Us‘mg‘ section formula, sho

are collinear.
sin A —cos A

X 3

: cosA=— i
41, If cos4 5,then find the value of Tl
0<x<10},Q={x:x=2n+1,newandn<5} and -

42. IfP={x:Xe wand
R = ‘{2,3,5,7,11,13}, then verify P-(QnR) = (‘P'Q)u (P - R).
IV An i |
el swer all the questions. 2 X8 =16
43, a ith si ’ ‘ ' |
: e a) Draw APQR with sides PQ= 7cm, QR = 8cm and PR = 5cm and construct
its orthocentre. (OR) ' | ) |
) Construct the circumcentre of the AABC with AB = 5 cm 41 60¢ and
: ' A= 5
_. O Al o o : | . |
£B =80"- .Afs.o draw the c.lrcumcircle and find the circum radius of the AABC
44. a) Draw the raph f ' - '
or i P =X
grap the followmg V=3 x+3 (OR)
b % 4
) Use graphical method to solve the following systemn of equations
X+y=5  2x-y=4, |
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